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B. g
is increasing on E- 1,2]U[6,7] because

thes-opeof.gl 's positive on C- 1,2) u (6,7)

C. g
has a relative min at ✗ = -1 and ✗ = 6 because atthese ix. values

g Is continuous
and the_g goes from negative

topositive

D. g
is concave down on ( 1,4) because theslopeofg

•

decreases on this interval .
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A] f-
'

C-2) = o point on f
'

graph
B] f- is decreasing on [-2,4] or [ 2, i]u[1,4]

* ble theff is negative on C-2, 1) UCI, 4)
c] f has a relative Max at ✗ = -2 6k at this

✗ - value f- is continuous and f goes
from positive to negative

D) f is concave down on C- 3
,

- 1) v11, 3) because

off is decreasing on this interval

E] f-(1) =3 Given f-
'

G) = 0

y
- 3=0 Cx - 1) → y =3
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A] f-
'

C- 0.25) = -1.75 ← point on graph (equation
of segment)useful

B] f- is increasing
on [-3, -2]

because the slope of f is positive on C-3
,

-2)

c) f- has a local max at ✗ = -2 61C at ✗ = -2=f is continuous and the slope off goes from positive to negative .

D) f- is concave up on ( o, 2) because the slopeoff-
is increasing on this interval .

E) f- (o ) =3 f
'

lo ) = -2 y
- 3=-2(X - o]

F)
I - (✗ + 3) ; -31 ✗ I 0

f-
'

G)
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(x-2) + (y +25=4

(y +25=4
- (x - a)
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slope off I fix)

y +2=+4*-25

y= -2 +FEY
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A] h'(4) = -4 h'( s) DNE

B) his increasing
on [-1

,
i] u [5,7]

because thespeofh is positive on C- 1, 1) v15, 7)

c) h has a relative min at ✗ = - l and ✗ = 5

because at these ✗ - values h is continuous and

thefh goes from negative to positive -

D] his concave down on (o, 3) because these is

decreasing on this interval .

E] hlo ) = 0
h'101=2

y
= 2 Cx)

-2 + 2 (✗ +2) ; -2 E ✗I 0

F) h%×) ={ 2 - ZCX ) ; 0 < ✗ =3

- 4 ; 3 < ✗ < s

3 ; 5 < ✗ £7

G) A continuous function that has a sharp corner
will fail to have a slope at that corner

.

The slope may jump from one value to the next

causing a jump discontinuity in the slope or derivative

graph .
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- I 0-3

* slope of
¥ÑÉ

,


